17.3 Homework

$$(f) F(x,y,z) = \langle z, x, y, 7 \rangle, [0,4] \times [0,2] \times [0,3]$$
  

$$-> P_{x} = 0$$
  

$$-> R_{z} = 0$$
  

$$-> div(F) = 0$$
  

$$-> SSI_{E} div(F) dV = 0$$

$$(3) F(x,y,2) = 2x, 3z, 3y7, x^{2}+y^{2} \le 1, 0 \le z \le 2$$
  
->  $R_{x} = 2$   
->  $R_{y} = 0$   
->  $R_{z} = 0$   
->  $Aiu(F) = 2$   
->  $SI_{E} 2dV = 4\pi$ 

$$( \widehat{\mathcal{P}} F (X_1 y_1 z) = \langle x y^2, y z^2, z x^2 \mathcal{P}, x^2 + y^2 \mathcal{L} \mathcal{Y}, 0 \mathcal{L} \mathcal{L} \mathcal{I}$$
  

$$\neg \beta_x = y^2$$
  

$$\neg Q_y = z^2$$

$$-3 k_{2} = z$$

$$-3 div(f) = y^{2} + z^{2} + z$$

$$-3 fif(y^{2} + z^{2} + z) dV = 60\pi$$

$$(1) F(x_{1}y_{1}z) = (x^{3}, 0, z^{3}7), x^{2} + y^{2} + z^{2} = 4, xz_{0}, yz_{0}, zz_{0}$$

$$-3 k_{x} = 3x^{2}$$

$$-3 k_{y} = 0$$

$$-3 k_{z} = 3z^{2}$$

$$-3 div(f) = 3x^{2} + 3z^{2}$$

$$-3 fif(x_{1}y_{1}z) = (x + y, z, z - x^{2}), z = 4 - x^{2} - y^{2}$$

$$-3 k_{z} = 1$$

$$-3 k_{z} =$$